
Assembly instruction garden bench, item 7102-5, 7202-5 and 7212-5 

 
PLEASE NOTE and keep it safe for later use! 
 
 
 
Congratulations on the purchase of your new solid wooden garden furniture. You have chosen a first-class processed quality product. 
Please note 
 the following instructions during use and assembly so that you can enjoy your new garden furniture for as long as possible. 
 
Care / Intended Use 
If it rains for a longer time, it is recommended to store the furniture in a dry place or cover it. In the case of short rain showers, tilt the 
furniture so that no water can collect on the seating and table surfaces. In winter, the furniture should be stored dry. When covering with 
a protective furniture cover, ensure adequate ventilation. Tighten all screws from time to time. 
 
The benches are treated ith a water-based wood varnish, which is applied twice with a flooding system. It is recommended to regularly 
treat the furniture with a wood varnish suitable for outdoor use. 
Dirt on the surface should be wiped off immediately with a damp cloth. 
 
This outdoor bench is intended for use in private living areas. Use only as a seat. The seating furniture is not suitable as a substitute for 
a ladder, support stand or gymnastics equipment for children. 
 
 
Teile-Liste 
 
Nr. Anz. Bezeichnung Nr. Anz. Bezeichnung 

A 4 Screw M8x70 G 1 Leg right side 
B 4 Screw M8x100 G1 1 Leg left side 
C 10 Wood Screw M4x45 H 2 Bracket Backrest 
D 8 Nut M8 I 1 Backrest 
E 8 Washer M8 J 1 Brace 
F 1 Seat 

   

 
Stremmel Import und Handel GmbH, Hohleichenrain 6, D- 35708 Haiger 



Assembly 
 
 
 
 
 
 
 
 
 
 
 
 
 
Fasten the leg parts G and G1 as well as the brackets for the back part to the seatof the bench 
with the screws B as shown. 
 
 
 
 
 
 
 
 
 
 
Fasten the back part I to the corresponding brackets H with the screws A as shown. 
 
 
 
 
 
 
 
 
 
 
 
Fasten the wood screws C in the designated places according to 3.1 and 3.2 
 
 
 
 
 
 
 
 
 
 
 
Fasten the brace J between the legs of the bench with the wood screws C. 
 
Note: If the bench does not stand up straight/wobbles, please loosen the screws A and B again, 
align the bench on level ground and tighten the screws again. 
 


